# CONFIDENTIAL

Date Commission Expires: \_

# Kansas Corporation Commission Oil & Gas Conservation Division

Form Must Be Typed

### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

ORIGINAL

Operator: License # 30606	API No. 15 - 185-23474-00-00
Murfin Drilling Company, Inc.	County: Stafford
Address: 250 N. Water, Suite 300 CONFIDENTIAL	NW_SW_SE_SE_Sec. 02 Twp. 22 S. R. 13 ☐ East  West
City/State/Zip: Wichita, Kansas 67202	364 FSL feet from N (circle one) Line of Section
Purchaser: None	1060 FEL feet from (F) / W (circle one) Line of Section
Operator Contact Person: Leon Rodak	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3241	(circle one) NE SE NW SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: Junior Fischer Well #: 2-2
License: 30606	Field Name: Gates
Wellsite Geologist: Terry McLeod	Producing Formation: LKC, Arbuckle
Designate Type of Completion:	Elevation: Ground: 1880 Kelly Bushing: 1891
✓ New Well Re-Entry Workover	Total Depth: 3805 Plug Back Total Depth: 3780
Oil SWDTemp. Abd.	Amount of Surface Pipe Set and Cemented at 719 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan AN INS 1907
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No.	
Other (SWD or Enhr.?) Docket No.	Operator Name:
10/18/07 10/26/07 11/15/07	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec Twp S. R East West
necompletion bate	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	h the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to would	late the oil and gas industry have been fully complied with and the statements
herein are complete and correct to the best of my knowledge.	garantee, market and the state of the state
Signature: Charles	KCC Office Use ONLY
Title: Leon Rodak, VP Production Date: 02/18/2008	Letter of Confidentiality Received
Subscribed and sworn to before me this & day of	If Denied, Yes Date: RECEIVED
A ser Wara	Wireline Log Received KANSAS CORPORATION COMM
20/18	Geologist Report Received
Notary Public: State	UIC Distribution FEB 18 2008

**UIC Distribution** 

CONSERVATION DIVISION WICHITA, KS

#### Side Two

Operator Name: Murfin Drilling Company, Inc.				e Name: ـˈ	Junior Fische	_ Well #: _2-2	2-2		
Sec. 02 Twp. 2	22 S. R. 13	. ☐ East 🗸 We	st Count	ty: Staffo	ord				
ested, time tool ope emperature, fluid re	Show important tops a en and closed, flowing covery, and flow rate ps surveyed. Attach	g and shut-in press s if gas to surface t	ures, whether s est, along with	hut-in pre	essure reached	static level, hydro	static pressu		.11
Orill Stem Tests Take		✓ Yes 🗀 N	' . No	<b>V</b> L	.og Formati	on (Top), Depth a	nd Datum	Sample	
Samples Sent to Ge	·	✓ Yes □	No	Nam	ie		Тор	Datum	
Cores Taken Electric Log Run (Submit Copy)	,	Yes Yes			·				
ist All E. Logs Run:		·			SEE ATT	ACHED LIST	CONFIE	DENTIAL . E 2008	
Dual Inductio Microresistivit	n, Compensa <sup>.</sup> ty	ted Porosity,					FEB	DENTIAL 152008 KCC	
			SING RECORD	No.	ew Used		\		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	We	ight / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	Dillied	8 5/8	23#	,,,,	719	300 lite, 175 comm	475	3% cc, 2% gel	
Production		15 1/2	15.5#		3804	AA2	195.		
		ADDITIO	ONAL CEMENTI	NG / SQL	JEEZE RECORD				
Purpose:Perforate	Depth Top Bottom	Type of Cement				ercent Additive	s		
Protect Casing Plug Back TD Plug Off Zone	·								
Shots Per Foot		ON RECORD - Bridge Footage of Each Interv				cture, Shot, Cement		ord Depth	7
4	3708-3714 Arbu				250 gal 15%		- ,		
,									
TUBING RECORD 2-	Size 7/8	Set At 3762	Packer A	At	Liner Run	Yes 🗸 No			-
	d Production, SWD or E		•	Flowing	] Pumpin		Oth	ner (Explain)	-
Estimated Production Per 24 Hours	0il 17	Bbls. Gas	Mcf	Wate			as-Oil Ratio	Gravity 32	
Disposition of Gas	METHOD OF C		·		Production Interv	p		RECEIV KANSAS CORPORATIO	J Veo On Ci
Vented Sold (If vented, Su	Used on Lease ubmit ACO-18.)	Open b	Hole Perf. (Specify)	. 🔲 D	Dually Comp.	Commingled		FEB 18	

		Junior Fischer #2-2 Fischer 364 FSL 1060 FEL Sec. 2-22S-13W 780 FSL 14 1891' KB 1888'							
Formation	Sample Top	Datum	Ref	Log tops	Datum	Ref	Log Top	Datum	
Anhydrite	712	+1179	+10	728	+1163	-6	719	+1169	
B/Anhydrite	734	+1157		743	+1143	-12			
Howard	2844	-951	Flat	2844	-953	-2	2839	-951	
Topeka	2926	-1035	-1	2928	-1037	-3	2922	-1034	
Heebner	3215	-1324	-2	3217	-1326	-4	3210	-1322	
Lansing	3362	-1471	-1	3364	-1473	-3	3358	-1470	
Stark Shale	3537	1647	-2	3540	-1649	-4			
BKC	3587	-1696	flat	3587	-1696	Flat	3584	-1696	
Viola	3617	-1726	-2	3624	-1733	-9	3612	-1724	
Simpson Sh	3658	-1767	+1	3658	-1767	+1	3656	-1768	
Arbuckle	3709	-1818	-1	3707	-1816	+1	3705	-1817	
RTD	3805						3864		
LTD				3798			3860		

CONFIDENTIAL FEB 1 5 2008 KCC

RECEIVED KANSAS CORPORATION COMMISSION

FEB 18 2008

CONSERVATION DIVISION WICHITA, KS



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Murfin Drlg. Co., Inc.

Wichita, KS 67202

250 N. Water STE #300

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

CONFIDENTIAL.

FEB 1 5 2008

KCC

11-15-07 Juni

Invoice Number: 110731

Invoice Date: Oct 19, 2007

Page:

PRUI SC

				THE CONTRACT WATER TO SERVE THE CONTRACT OF TH
Customer ID	 ell Name# or Customer P.	o)	Paymen	t Terms
Murfin	JuniorFisches#2-2	7	Net 30	Days
Sales Rep ID	Camp Location		Service Date	Due Date
Secretary and the secretary an	Great Bend		Oct 19, 2007	11/18/07

Quantity	Item	Description	Unit Price	Amount
175.00	MAT	Common Class A	11.10	1,942.50
22.00	MAT	Gel	16.65	366.30
14.00	MAT	Chloride	46.60	652.40
i	MAT	ALW Class A	10.45	3,135.00
	SER	Handling	1.90	970.90
16.00		Mileage 511 sx @.09 per sk per mi	45.99	735.84
i	SER	Surface	815.00	815.00
419.00	SER	Extra Footage	0.65	272.35
16.00		Mileage Pump Truck	6.00	96.00
i	SER	Head Rental	100.00	100.00
	EQP	Rubber Plug	100.00	100.00
			The state of the same of the state of the st	

RECEIVEL RANSAS CORPORATION COMMISS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 918.63

ONLY IF PAID ON OR BEFORE

Nov 18, 2007

i	
Subtotal	9,186.29
Sales Tax	390.36
Total Invoice Amount	9,576.65
Payment/Credit Applied	
TOTAL	9,576.65

918.63

FEB 18 2008

CONSERVATION DIVISION WICHITA, KS

8658.02

# ALLIED CEMENTING CO., INC. 30905

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:	
DATE 10 - 17 -07 SEC. J TWP. RANGE	CALLED OUT ON LOCATION LOB START LOB FINISH	
Juniel Fischer Well##2-2 LOCATION Great 1	COLINERY	
OLD OR CEP (Circle one)	p, west into south to Pin	,
CONTRACTOR Muefin #2 TYPE OF JOB Suctace Job	OWNER Muctin dilling (or	
HOLE SIZE 124" T.D. 720'	CEMENT	
CASING SIZE 8 5/8" DEPTH 7/9'	AMOUNT ORDERED 300 SX 65/35 6660	
TUBING SIZE DEPTH DRILL PIPE DEPTH	175 common 3% CC, 2% Get	
TOOL DEPTH		
PRES. MAX 300# PST MINIMUM O MEAS. LINE SHOE JOINT 40'	COMMON 175 @ 11.10 1942.56 POZMIX @	
CEMENT LEFT IN CSG. 40'	GEL 22 @ 16,65 366,30	
DISPLACEMENT 434 BOLS of freshauter	CHLORIDE 14 @ 46.60 652.40	
EQUIPMENT	ASC @ 10.45 3135.00	
	@	
PUMP TRUCK CEMENTER KICK. H. HELPER Day'd T	@	
BULK TRUCK	@	
# 341 DRIVER KEUIN W.	@ @	CONFIDENTIAL
BULK TRUCK # 357 DRIVER		FEB 1 5 2008
	HANDLING 5// @ 1.90 970.90 MILEAGE 6 9 511 @ 135.84	1200
REMARKS:	TOTAL 7802.94	KCC
pipe on bottom brake circulation, mixed		
300 St 65/35 6% Gel, 3%CC/+17'S St Comp 36 CC, 2% Gel. Shut down, Released plug.	SERVICE	
* displaced with 434 BBLS of freshunder	DEPTH OF JOB 7/9	
and stud in Rigged down	PUMP TRUCK CHARGE 8/5,00	
Clinera did Circulate in Callati	EXTRA FOOTAGE 419 @ 165 272.35 MILEAGE 16 @ 6.00 96.00	
Premy Bay Got in IDARIS of in		
TRAM I Dag Get in 10 BBLS of a	W Hend Rest @	
CHARGE TO: Muchin di. Ilino Co,		,
STREET	TOTAL <b>(283.35</b>	
CITYSTATEZIP		
	PLUG & FLOAT EQUIPMENT	`
	1-8% hubber plug @ 100,00	
		•
To Allied Cementing Co., Inc.	@	RECEIVED
You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or		KANSAS CORPORATION COMMISS
contractor to do work as is listed. The above work was	/24.50	FEB 18 2008
done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	TOTAL	
CONDITIONS" listed on the reverse side.	TAX	CONSERVATION DIVISION WICHITA, KS
	TOTAL CHARGE	<b>,</b>
	DISCOUNT IF PAID IN 30 DAYS	
X / , _		
SIGNATURE A	X Jeremy Stuckey PRINTED NAME	
	PRINTED NAME	





### **Pratt**

**MURFIN DRILLING** 

P O BOX 288

т **RUSSELL**  KS

67605

ATTN:

**CUST NO** PAGE 1 of 2 1970-MUR009

INVOICE DATE

10/31/2007

**INVOICE NUMBER** 

### 1970001069

CONFIDENTIAL

**LEASE NAME** 

Junior Fisher

FEB 1 5 2008

WELL NO.

2-2

Stafford

KCC

COUNTY STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

**JOB CONTACT** 

<b>JOB #</b> 1970-01071	EQUIPMENT # 301	PURCHASE	ORDER NO.	<del>1</del>	TERMS Net 30 DAYS	<b>DUE DATE</b> 11/30/2007
			QTY	U of M	UNIT PRICE	INVOICE AMOUN
or Service Da	ates: 10/27/200	7 to 10/27/2007				
970-01071						i
1970-17226	Cement-New We	ell Casing 10/27/07				
Pump Charge-I		,,, odoling 10,21,01	1.00	Hour	1680.000	1,680.00
	nent Pumper				050000	250.00
Cementing Hea			1.00	EA	250.000	250.00
Cement Float E			1.00	EA	320.000	320.00
Auto Fill Flo	at Shoe	•				
Cement Float E			1.00	EA	250.000	250.00
I.R. Laten D	own Plug & Baffle auipment		10.00	EA	74.200	742.00
Turbolizer	. 4					
Extra Equipmer			1.00	EA	150.000	150.00
Casing Swin	ei Rentai		220.00	DH	1.500	330.00
•	vice Charge			511		555.55
Mileage		RECEIVED  ANSAS CORPORATION COMMISSI	80.00	DH	5.000	400.00
Heavy Vehice Mileage	cle Mileage "	ANSAS CORPORATION COMMISSI	412.00	DH	1.600	659.20
•	nd Bulk Delivery	FEB 18 2008	412.00	DIT	1.000	000.20
Pickup	·	CONSERVATION DIVISION	40.00	Hour	3.000	120.00
Car, Pickup Additives	or Van Mileage	WICHITA, KS	56.00	EA	6.000	336.00
	tion Reducer		56.00	EM	0.000	330.00
Additives			19.00	EA	3.450	65.55
Defoamer			449.00	<b>5</b> A	0.050	4 004 00
Additives FLA-322			148.00	EA	8.250	1,221.00
Additives	USED FOR	plen well Comp	138.00	EA	5.150	710.70
Gas Blok		\(\mathbb{\text{\tint{\text{\text{\text{\text{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\tint{\text{\tint{\text{\ti}\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\tint{\text{\text{\text{\text{\text{\text{\tint{\text{\tinit{\text{\text{\text{\tinit}\\ \tint{\text{\tinit}\\ \tint{\text{\text{\tinit}}\tint{\text{\text{\text{\text{\text{\tinit}\\ \tinit}\\ \tint{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\ti}\tinit}\\ \tint{\text{\text{\text{\text{\text{\text{\tinit}}\\tint{\text{\text{\text{\text{\text{\text{\tinit}\}\tint{\text{\tinitht{\tinithtint{\text{\tinit}\tint{\text{\tinithtint{\text{\tinithtint{\text{\tinithtin}\tint{\text{\tinithtint{\tinitht{\tinithtint{\text{\tinithtin}\tint{\tinithtint{\text{\tinithtin{\tiithtin{\tinithtint{\tinithtint{\tiin}\tint{\tiin}\tint{\tiin}\tint				0.50.05
Additives Gilsonite	APPROVED		975.00	EA	0.670	653.25
Additives	_		7.00	EA	44.000	308.00
JSCC-1		, 7 mali				
Additives Salt			1,315.00	EA	0.250	328.75
Additives			500.00	EA	2.450	1,225.00
Super Flush						•



**Pratt** 

MURFIN DRILLING P O BOX 288

RUSSELL

KS

67605

ATTN:

PAGE

2 of 2

**CUST NO** 

1970-MUR009

INVOICE DATE

10/31/2007

INVOICE NUMBER

## 1970001069

LEASE NAME

Junior Fisher

WELL NO.

2-2

COUNTY

Stafford

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

**JOB CONTACT** 

JOB # 1970-01071	EQUIPMENT # 301	PURCHASE ORDER NO.		TERMS Net 30 DAYS	DUE DATE 11/30/2007
1970-01071	301				1
		QTY	U of M	UNIT PRICE	1
Cement		25.0	D EA	10.710	267.75
60/40 POZ				10.550	
Cement		195.0	EA	16.530	3,223.35
AA2		1.0	11000	150.000	150.00
Supervisor Service Sup	panisor	1.0	Hour	150.000	150.00
Service Sup	151 VISOI				
		ļ	ļ		
					CONFIDENTI FEB 1 5 20 KCC
			ľ		FER 152
					FED.
					KC
					" 2
					,
				1	RECEIVED
		·			RPORATION COMMISSIO
					D 4.0.000
		İ			B 18 2008
			1	COMS	ERVATION DIVISION
-	•				WICHITA, KS
				1	
4.44		<u> </u>	BID DISC	OUNT	-2,142.49
EASE REMIT 1	ro: SEND C	THER CORRESPONDENCE TO:	SUBTOTA		11,248.06

BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

SUBIOIAL TAX

441.33

**INVOICE TOTAL** 

11,689.39



## TREATMENT REPORT

Customer Mur An Dilling					Lease No.						Date							
Lease	-	sele	0	v	/ell #		2-2					10	0-2	7-07				
Field Order #	Station		4				Casing	/2	Depth	7U I	County		-= < +	ffid	Sta	Ks,		
Type Job	"NW -		11		=			For	mation				Legal D	escription	22	5-13W		
PIPE	DATA		ERFO	RATING	DATA		FLUID L	JSED			TF	REAT		RESUME				
Casing Size						Ag	id sk. At	42			RATE					ISIP		
Depth 3801	Depth	Fro	om.	То		Pr	e Pad /. 30	oft:	3	Max		00	MEIDE	5 Min.				
Volume <sub>90</sub>	Volume	Fro		То			id			Min		00	7111101	10 Min.				
Max Press	Max Press	_		То		Fra	ac			Avg		-	EB 1:	45 Min.				
Well Connectio	n Annulus V	_		То						HHP Used	1		KC	Annulus	Press	ure		
Plug Depth	Packer De	-		То		Flu	ish GOBLI	19	MIL	Gas Volum	ne			Total Loa	d			
Customer Rep	resentative	Mar		1	Station	Mar	nager /				Treate	r	Polly	Viak	4			
Service Units	17516	1984		2832	179	9	on of the granding of the of the page.											
Driver Names	Marko	de s	10	Ta. 08	Boles		payment the second the shape of											
Time	Casing Pressure	Tubir		Bbls. Pum	ped		Rate		hora McMc.	+ Winds Include		Servi	ce Log					
1530		<i></i>					and the second section of	In	10	atton	- 50	j.	4 1	Certino	2	**		
1700								Rus	1 1	4:15.	15.5	# 5	1/2 0	14.		a la		
1400							seen	Gen.	1.	135	19/	1	3, 15,	1717		4.07		
1900	li-		1					14	on one of	1616.								
1915	Carried States	14.1	7					the	A ,	of to	130 =	Bir	7/1	Per v	/	Hig		
2020	3.00		$\perp$	20			40	501	4	1412	Divisioning.					-		
2025	300			5			41.	FIZO	100	128								
1026	700			12		1	40	Sugar	01 1	Thish								
1024	300			5			1.0	Ha	1 3	1000								
2030	350		_	47			50	Mi	1 (	my t. a	15.	57	gal			7		
1037			_					Keli	2158	Plug	- 54	11	DITTO	. Chr.	Tu	4, Thus		
7044	160		$\perp$				60	Last	1	1	e 57	100	+ Diz	2.				
2054	300		-	57	-		5.5.	11		207	11/7		iesse					
2100	1500			20				Plus	m K	1 + 1	1500	27	HOT?	Plug 1	200	un		
2110	454			7		_		Pho	a fe		Mou							
e David	ar T	det.					-	Cin	rola	fren 1	hin	Ju	6					
14,1133						_	A CONTRACT	Ju	16	onolo	te		KAN	RE(	RATIO	ED N COMMISSION		
	2	1-10			-					, /	761		- A	FEB				
			+		_			7	lan	KS, D.	i DA,							
			+		-									CONSERVA	HITA, K	S SIVISION		
			+		-													
10244	NE Hiw	av 61	• P.O	). Box	8613 •	Pr	att, KS 6	7124	-861	3 • (620	) 672-	120	1 • Fa	x (620)	672	-5383		